e — o —
AT e T Rl A e

AN 5

TR ey R
A, (W) BET — 0151—2226906, I :(— 0151—2226902, 0151—2226905

E-Mail Address :- nagarnigambikaner@gmail.com, Web Site :- www.bikanermc.org

PG / FAToT / 202324 /279 U -3s| foei .2 0mD. 52

e __%— Rgr—@mr Wo 188 /2023—24

LN B AR A A Frf (@ o1 o) & R 3= T I IR &
W@Mﬁw TSN ¥ ofem et v@ R P § Sudw S ¥ dofied
PRSI 3 PR s ¥ $-shagie sfrer @ sy e FRE o @ o 21 P 9
1 h |ge www.bikanermc.org Web site www.SPPP. raj.nic.in q g
lttp://eproc.raJasthan.gov.in TR ST ST qhaT & |

D ST AT —11.77 aRg ~
Q

sHHIS / fofor - : o).
mé, /2028-24/ 371 949-3 5| fete .2 TDDR3..

ST o1 IR B9 W T W F A0y IWIR BN GO N D ML TF T a9 S
Wﬁ,wgmwmmwwmwwﬁw%l

A
T
e, femr




Wﬁ’mmﬁ‘eﬂaﬂﬁ-\r(?mwm

E-Mail Address :- naga

A

dibIoR obR fopwE

) BERT :— 0151—2226906, BIT (— 0151—2226902, 0151—2226905
rmigambikaner@gmail.com, Web Site :- www.bikanermc.org

PHIB / (AT / 202324 /D G U -33S1 fers . 272.-9.2 ...

$— RET—==r Wo 188 /2023—24

) Wﬁm?ﬁwﬁvaﬁaﬁ?ﬁﬁwﬁwﬁgﬁm%m P T WER B ARG Rt §
g %ﬁﬁ%ﬁaﬁ@wﬁmﬁm

Mﬁdﬁﬁﬂgfﬁﬁﬂﬁﬂsﬁ@ﬁaﬁamﬁs‘—m@%m

A A fAfeed amitg 9 Sl ¥ PRE ¥ st R EERSIEL www.bikanermc.org Website

WWW.SPPP.raj.nic.in § 9 http://e

proc.rajasthan.gov.in 4R <@ &7 Feball ¢ |

1

Err@f#oszﬁﬁmm{@w#om,qamﬁsﬁaaﬁwmm
B | 11.77 A G

11.77 A9

AT R o e 2
fafy

12]33 0030 aw @ IDe)$3.. 1800 99 7B

AR e o v oy
B TG

C:-U)°N,3 0930 991 ¥ )21 10)43. 18:00 99 TH

FTeE FTaaT Grer &

\3710}&3 ......... BT 17.00 FoT

TED HdGH! BT AU T THER & ARgq ¥ 99 SIELA http://eproc.rajasthan.gov.in W

IR A1 amawas B ' 3\
A
e IR
shHiD / (AT / 202324 / _ % 25
afaff L1349 -9 g

2. gRf&rd u=Ee |

1.'_’»ﬁm=[ HEUR AEIdl, TR fArH, diemR |



R

§— PRRT—eeT %o 188 /202324

| P

BIRAT — 24 o

Wﬁﬁoszﬁmqﬁ,@wﬁom,wf{sﬁaaﬁwmw

11.77 oI

C 177 g

......................

p— |
.

.....................

..!..3..)..).9.)..?{3......... PT 17.00 9

||

~

|
A

TR 7, fiorr




aaYigc Y¢ AYATS B

dibIoR oPR fopmE

TR (7 A0, ABFR QIORAM) BRI i~ 0151-2226906, BT i— 01512226902, 0151—2226905

E-Mail Address :- nagarnigambikaner@gmail.com, Web Site :- www.bikanermc.org

I /A 2022-23 /23 49 ~3 S | feeies 2779283
§— fARRI—=r o 188 /2023—24
TR M AT 91 3R ¥ PR ol & /R 3 7 o wweR @ afife) femi § e v Sl
WWWWWﬁWMﬁWWﬁ%WW&?—WW@WWW
I @ W B e ¥ wwfug faa=or dqurEe www.bikanermec.org Website www.SPPP. rajnicin 9 q

http://eproc.rajasthan.gov.in R W W GHaAT 2|
IS

& /3BT b1 M aqa;ﬁa;@gwm P14 @Y @ty
(et #)
PR [ 1S 0 32 F Ve U, WIeR A0 04, GG ¥ G T ST o 11.77 02 HIE

BT BT |
it yo=t @1 A9 I9REe http://eproc.rajasthan.gov.in 9 TSAAS [hAT T AHdl 2| g1 fAfagRl § wrr oF
T ¥R d (AT B gARIE BRI ¥ Jeurge http://eproc.rajasthan.gov.in TR 3TATS B |

e — R eE T SR & smmfa sodw aeht ¥ WRed w6 @ TR P SeRR 9T A

e I Fome B 15.00 A 0% B B TG W gomE B 50,00 AT 9F D PR TG A qord o

1/2uﬁmmmwmaﬁwWWﬁwﬁ$‘W'amar‘iz“’ﬁvﬁiﬁﬂﬁ)w231%31391?’13?
q

IR AT BRABR fAfdeT § 91T o Gad 2
=




A<y

1. WWWW%WWWﬁW@WVWWMﬁ
grarq Reg 8T savas) o gd R AT fiemR 9T # Re D T B 15.00 A
TP D B T M g wH 50.00 A TH D HIE T DT T BH 1 /2 A eRER
BT O BRAM W TG I AHE B QT FHerEr ‘g Aol & Hagd 2 uied eRER i o
FHRaTpx FARET § 9T of 9Hd T

2. FfdET yu=Al 3G SISS Bl afey oR)101%3 0930 7 7 12))0)X3. 18100 79 T BT |

) (a)ﬁ'ﬁﬂmqﬁ?ﬁfﬁm http://eproc.rajasthan.gov.in WX ......... S Q)lb’)"’zg ....... 09.30 991 &
A1A0)A3. 1800 IO TH HT IRAD O GHY ¥ TG W FAREN, soaeife vRie §
qqqISC http://eproc.rajasthan.gov.in UX rferemdY rfaar, R AH, MR fAEior STHTT H o
1 21043 @Y 17:00 a9t aTE @A SRR |

4. IR fHA SRUEY SH AT PRI BT & O Tt e Sl 99y 9 S e R e
Wl ST |

(@) ffaer ufshar &ifF answ 81|

@) soagitie s ufpar # Wdie N &1 yraem =67 21

5. et aifdq, TR A, WWWWﬁWWOQ)Ib)ﬁ 09.30
A )X Ne)B 1800 T9 a R A Bt R F Ffar mo @ e o T R
fAfaer gusi & fAfdeeal @ R drgdr gEer qon PAferedt @ g, © e, @Rifhae,
SR =T St @t AT g9 <)t @ faRen, frm, o gd e faeRer aftfa @

6. Ffaer Gem o fais § 90 Raw 7@ Mfaer Wigfy &g w7y <&M | afy Mgl sa saf
# ora FAfQeT sterar wal # fl wpR &7 FueE PRar & srerar oru fifier Ay of o ¥
T SEDT ERIER Y ST DY ) ST |

7. fd i FfAeT & MHR = T A1 SR ga) PR 77 & R SIRISR Ferm SIfaT)
S U GRIW 2 SIRYIS<Y 100 Bl H It AT BRAY |

8. 10 VITF T &S NTT & FHIAT BT Defect Liability Period 05 99 &T BNIT| .

9. RTPP tae 2012, {199 2013 & WAvd wiaen< o, 81 | RTPP 2013 @ fad 75A & g orf 3
R 15 Hiaea 9 s NN oM W A P 85 wfdwa R A F 48 T R D amaw R @7 50
i Y i afaRaw fosho @ w7 argey @ qd w1 IR ravgs @

10. fAfaeT geo FrgaR fAuifRa & —

w

HH D AT AR (ATEr ) Jch
e I, TR 7, famR|
10 g d& 500/ —
10 g 9 AfdP 1000 / —
1. TRIRAT B FArgar [uiRa 8 —

B BN AT I (e F) I
T Managing Director, RISL, Jaipur
50 NG OF 500/~
50 9T 9 3P 1000 / —

12. FAfa=T Yoo, HRIRIT BN Td eRIER NIIA & YA DY AGHAT aATTonaT & |
13. fAfdeT 23 ST YA TR | &) d9arEe www.bikanermc.org TR PAY ONLINE

Sf@ W B |
.

I———— ]



13.‘%3#‘%’”‘“ I 80 [aad P TR THIN g TYWW.WIKNNICIMIC.OrE YX IFAY UIYLLINE YX
ﬁﬂﬁﬁ%&mﬁ?mwwﬂaWﬁ???f%iﬁwaﬂn%qﬁwémﬁﬁowoaow
93 B SIBCIES] W[IEE  hip:ieproc.rajasthan.govin TR IMYSIS BT ] BRI |

15. AR g™ AfdET qwarst 77 S BT "G Schdule # WRY 9 ww@ER 79 M, AHAID

ﬁﬁﬂﬁwmﬁmmmﬁmﬁ?mmﬁaﬁﬁmma%mﬁﬁﬁa

17. AT geb, WARET Y[ed Non Refundable 17T |

18. fHiRT Yo A B9 WA e arelt Ffder W few € R s |

19. 50 TP IR & IO B B N o W R zEE W @ we=Rg
TROIAN0ITRO / OTHOIMRO Y X HHT Sy |

20. fAfA=T WU 02 IR # BT | AR WwH gRT PR IU SR RRET s P wwa g
TN e T Tel Y Wi | Y 9 Pfier wR Rer w8 fsar o |

21.ﬁﬁammaﬁmﬁm‘rimma:rmamlwﬁaﬁa%aﬁm(syuﬁm)‘zﬁﬂ‘rowomm
Wﬁﬁﬁﬂmﬁmﬁmﬁmléoﬁowowmmwwzﬁww
%waﬁawmwﬁﬁwaaﬁqﬁawwﬁmml

x.é—é%ﬁﬂ$%ﬁﬁﬁzmégﬁ-éw:—

J — 3 fAfdgRr § D fAfdsreTar fAfder yu=i @ oA [of qEe http://eproc.rajasthan.gov.in

TSNS PN Fohd & |

9 — HfageRit § 9 o9 qrer IBIEHEGISIRCT ERAL T qEe http://eproc.rajasthan.gov.in U IoRex

W@Wlaﬁa@ﬁﬁmﬁwaﬁﬁ%ﬁ%ﬁwméﬁmﬁvﬁ@ezooo$mw

FET BT W1 gelagitie (T & WET v g B amT | PR Swie Rslies wiffhae

%ﬁ%ﬁqgmﬁﬁ@ﬂﬁaﬂ%mﬁmmﬁiﬂﬁﬂﬁﬁwaﬁ%w@ﬁﬁu%ﬁw

Aidfeae 2, a1 Rfdee wliffhade A & argvasdr 98 2

v—ﬁﬁammﬁaﬁﬁﬁmmsﬁaﬁﬁwﬁﬁaﬁw@mémﬁzw%ﬁmmﬁa%ww

mﬁmlmwﬁﬁmm%mﬁaﬁmmﬁﬂwvﬁ%aﬁmﬁéﬁ

UG 3ol Hifdd B4 § wWerd T8 8|

&= 3T @ ffaed FuiRd i vd Wi R ST 57 G — 3 @ sER @iel s |

q — geiagifie ffaer gus @ o e ¥ gd Pk av giRea ey o 5 Afer gost @

Heferd Wl SaTasd SRS BT Wb DAY AT aus @ s oRk" By € i

R — B A IR el S FH A Bl SR e 8 Sirer @ ) 9w R e a6

BRI |

o — <R B guAl A avad W Al B AU T § RPR IAAET T By |

'\

=
Mﬁm



“ v " Municipal Corporation , Bikaner.

Name of Work :- a1€ 0 32 # -g% U, Haex H0 04, GIAYSI # 3ot G AU 19 &1 & |

INE:Y 1 T 1) 118 T (1) G U RRRRt

=4 NIT.No....188/23-24. Work No. 01

Date of Sales : As per NIT Date of Opening : As per NIT

Tender Cost Rs 1177000/- | Earnest Money Rs. 2% or 1/2% | Tender Fess :1000/-
Earnest Money Cheque Draft No. : Date :

Earnest Money M.C.B. Receipt No. : Date :

Earnest Fees M.C.B. Receipt No. : Date :

"G" Schdule

S. BSR Item Qty. Unit Rate Amount
No. Code
1. Non BSR CROSS TRAINER Providing and fixing of Cross trainer of 02.000 Each 62040.00 124080.00
size 1320mm (Length) x 600mm (Width) x 1750mm.
But (Height) fabricated with the main frame Pipes of 80NB

already shall be made of “C” Class G.| and pipe with single bend
pipe with 250mm radius. The bottom support of M.S. round
approved plate of @250 mm & 10mm thick. The Handle Frame shall

in JDA be made up of 25NB “C” Class G.l. Pipe. The foundation
. should be used for fixing is a structure and shall be made
Jaipur. from center pipe of G.I. pipe of 80 NB “C” class welded

with M.S. round plate of @250 mm & 10mm thick. Main
pipe should be supported with 25 mm X 25mm M.S.
angles of 3 mm thickness and 20mm x 40mm and CRC
square pipes of 3mm thickness. To build structure bushes
to be used which shall be made from M.S.seamless pipe
of 60mm OD with 5 mm thickness. The footrests shall be
made from Aluminum casting material of size 130 mm X
310mmX5mm thickness and mounted on M.S. Plate of
Size 130mmx310mmx3mm thick. Closing Caps shall be
made up of high quality Fiber reinforced Plastic material.
Pins to be used of Diameter 35mm, 25mm, and 17mm
shall be made up from SAE 8620 bright . The Bearings
shall be used of “6007zz" “6205zz" and “6203zz”
permanent lubricated sealed bearing of reputed brand
(SKF/FAG). High tensile steel with galvanized nuts and
bolts shall be used for assembly. The powder coating shall
be done with Pure Polyester powders of Ackzonoble or
Berger Paints with 60 to 70 Micron thickness. A16 , A 24
mm circlips shall be used for assembly. Bolt M8X16 mm
and NY lock nut of M8 shall be made of SS 304 used on
nylon cap mounted on pins to protect bearings and pins
from rain and dust, all complete as per drawing, design,
directions and approval of Engineer-in-charge regarding
material, shape of equipment, colour (of metal, seat and
pedal), and fixing of equipment etc

2. Non BSR THI-CHI SPINNER (2 WHEEL) Providing and fixing of Thi- 02.00 Each 34761.00 69522.00
Chi spinner (2 Wheel) of size 700mm (Length) x 1000mm
But (Width) x 1280mm (Height) fabricated with a center pipe

already of 100NB shall be made up of “C” Class G.l. pipe. The
handle movement round frame shall be made up from 25
GPDFOVEd NB “C” class G.I. pipe. The foundation should be used for

in JDA fixing is a structure and shall be made from center pipe of
. G.I. of 80 NB “C” class, welded with M.S. round plate of
Jalpur. @250 mm & 10mm thick. Main pipe shall be supported with

25 mm X 25mm M.S. angles of 3 mm thickness and 20mm
x 40mm CRC square pipes of 3mm thickness. Closing
Caps shall be made up of high quality Fiber reinforced
Plastic material. The pins to be used shall be made up of
@ 25 mm of SAE8620 bright material. The bearing shall
be used of “6201zz" & “6205zz” permanent lubricated
sealed bearing of reputed brand (SKF/FAG). High tensile
S.S. nut bolts shall be used for assembly. Foundation
cover Closing Cap shall be made from FRP Material with
0.7 mm thickness. The cerclips used for assembly shall be
of of A24 and A11. The nylon bush shall be used for
handle knob. The powder coating shall be done with pure
Polyester powders from Ackzonoble or Berger Paints with
60 to 70 micron thickness. Bolt M8X16 mm and Nylock nut
of M8 shall be made of SS 304 used on nylon cap mounted
on pins to protect bearings and pins from rain and dust, all
complete as per drawing, design, directions and approval
of Engineer-in-charge regarding material, shape of
equipment, colour (of metal, seat and pedal), and fixing of
equipment etc




3. Non BSR SEATED PULLER Providing and fixing of Seated Puller of 02.00 Each 86160.00 172320.00
size 1900mm (Length) x 740mm (Width) x 1920mm.
But (Height) fabricated with a center pipe is of 100NB shall be
already made from “C” Class G.l. pipe. Bottom support of M.S.
round plate of @ 250 mm & 10mm thickness shall be

GPDFOVEd welded. All linkages shall be made up of 25NB “C” class

in JDA G.l. pipe. The handle frame of 32NB “C” class G.l. pipe.
. The seat frame of 32NB “C” class G.l. pipe, To build
Jalpur. structure bushes to be used which shall be made from

seamless pipe of 60mm O.D. and 5mm thickness as well
as 60mm diameter solid bar bush shall be used. The
foundation should be used for fixing is a structure and shall
be made from center pipe of G.I. of 80 NB “C” class welded
with M.S. round plate of @250 mm & 10mm thick. Main
pipe shall be supported with 25 mm X 25mm M.S. angles
of 3 mm thickness and 20mm x 40mm CRC square pipes
of 3mm thickness. Foundation cover Closing Cap shall be
made from FRP Material. The seats and Back rests to be
fitted on the outer frames shall be made up of M.S. Sheet
of size 330 mm X 300 mmX2mm thickness and deep
drawn and pressed in tools and dies to have uniform
radius of 20 mm with no sharp edges. Closing Caps shall
be made up of high quality Fiber reinforced Plastic
material. Pins to be used of Diameter 25mm and 17mm
shall be made up from SAE 8620 bright material. The
bearings shall be used of “ 6205zz" and “6203zz”
permanent lubricated sealed bearing of reputed brand
(SKF/FAG). High tensile steel with galvanized nuts & bolts
shall be used for assembly. The cerclips to be used for
assembly are of A16 The powder coating shall be done
with Pure Polyester powders of Ackzonoble or Berger
Paints with 60 to 70 micron thickness, all complete as per
drawing, design, directions and approval of Engineer-in-
charge regarding material, shape of equipment, colour (of
metal, seat and pedal), and fixing of equipment etc

4. Non BSR CHEST PRESS Providing and fi>§ing of Chest Press oflsize 02.00 Each 89117.00 178234.00
2000mm (Length) x 710mm (Width) x 2200mm. (Height)
But fabricated with the center pipe of 100NB shall be made up

already of “C” Class G.l. pipe. The bottom shall be welded with
support of M.S. round plate of @250 mm & 10mm
approved thickness. The connecting pipes shall be made up from

in JDA 25NB “C” class G.I. pipe. The handle frame shall be made
. up from 32NB “C” class G.l. pipe. To build structure
Jalpur. bushes to be used which shall be made from MS seamless

pipe of 60mm O.D. and 5mm thickness as well as 60mm
diameter solid bar bush shall be used. The foundation
should be used for fixing is a structure and shall be made
from center pipe of G.I. of 80 NB “C” class welded with
M.S. round plate of @250 mm & 10mm thick. Main pipe
shall be supported with 25 mm X 25mm M.S. angles of 3
mm thickness and 20mm x 40mm CRC square pipes of
3mm thickness. The seats and Back rests to be fitted on
the outer frames shall be made up of M.S. Sheet of size
330mm X 300 mmX2mm thickness and deep drawn and
pressed in tools and dies to have uniform radius of 20 mm
with no sharp edges. Closing Caps shall be made up of
high quality Fiber reinforced Plastic material. Foundation
cover Closing Cap shall be made from FRP Material with
0.7 thickness. Pins to be used of Diameter 25mm and
17mm shall be made up from SAE 8620 bright material.
Bolt M8X16 mm and Nylock nut of M8 shall be made of SS
304 used on nylon cap mounted on pins to protect
bearings and pins from rain and dust. The bearings shall
be used are of “6205zz” & “6203zz” permanent lubricated
sealed bearing of reputed brand (SKF/FAG). High tensile
steel with galvanized nuts & bolts shall be used for
assembly. The cerclips to be used for locking shall be
made up of A24 mm & A16mm. The powder coating shall
be done with Pure Polyester powders from Ackzonoble or
Berger Paints with 60 to 70 micron thickness, all complete
as per drawing, design, directions and approval of
Engineer-in-charge regarding material, shape of
equipment, colour (of metal, seat and pedal), and fixing of
equipment etc.

5. Non BSR Leg PRESS Providing and fixing of Chest Press of size 02.00 Each 89117.00 178234.00
2000mm (Length) x 710mm (Width) x 2200mm. (Height)
But fabricated with the center pipe of 100NB shall be made up

already of “C” Class G.l. pipe. The bottom shall be welded with
support of M.S. round plate of @250 mm & 10mm
GPDFOVEd thickness. The connecting pipes shall be made up from

in JDA 25NB “C” class G.I. pipe. The handle frame shall be made
. up from 32NB “C” class G.l. pipe. To build structure
Jalpur. bushes to be used which shall be made from MS seamless

pipe of 60mm O.D. and 5mm thickness as well as 60mm
diameter solid bar bush shall be used. The foundation
should be used for fixing is a structure and shall be made
from center pipe of G.I. of 80 NB “C” class welded with
M.S. round plate of @250 mm & 10mm thick. Main pipe

shall be suﬁeorted with 25 mm X 25mm M.S. angles of 3




mm thickness and 20mm x 40mm CRC square pipes of
3mm thickness. The seats and Back rests to be fitted on
the outer frames shall be made up of M.S. Sheet of size
330mm X 300 mmX2mm thickness and deep drawn and
pressed in tools and dies to have uniform radius of 20 mm
with no sharp edges. Closing Caps shall be made up of
high quality Fiber reinforced Plastic material. Foundation
cover Closing Cap shall be made from FRP Material with
0.7 thickness. Pins to be used of Diameter 25mm and
17mm shall be made up from SAE 8620 bright material.
Bolt M8X16 mm and Nylock nut of M8 shall be made of SS
304 used on nylon cap mounted on pins to protect
bearings and pins from rain and dust. The bearings shall
be used are of “6205zz” & “6203zz” permanent lubricated
sealed bearing of reputed brand (SKF/FAG). High tensile
steel with galvanized nuts & bolts shall be used for
assembly. The cerclips to be used for locking shall be
made up of A24 mm & A16mm. The powder coating shall
be done with Pure Polyester powders from Ackzonoble or
Berger Paints with 60 to 70 micron thickness, all complete
as per drawing, design, directions and approval of
Engineer-in-charge regarding material, shape of
equipment, colour (of metal, seat and pedal), and fixing of
equipment etc.

6. | NonBSR
But
already
approved
in JDA
Jaipur.

DOUBLE TWISTER STANDING Providing and fixing of Double
Twister Standing of size 1500mm (Length) x 600mm (Width) x
1300mm. (Height) fabricated with a Center Pipe of 100NBshall be
made from “C” Class G.l. material. The bottom shall be welded with
support of M.S. round plate of @250 mm & 10mm thickness. The
bottom frame of 32NB shall be made from “C” class G.I. pipe. The
handle frame of 25NB shall be made from “C” class G.. pipe. The
foundation should be used for fixing is a structure and shall be made
from center pipe of G.I. of 80 NB"C” class welded with M.S. round
plate of @250 mm & 10mm thick. Main pipe shall be supported with
25 mm X 25mm M.S. angles of 3 mm thickness and 20mm x 40mm
CRC square pipes of 3mm thickness. The Twister plate to be fitted
on the bottom frame shall be made up of M.S. Round Plate of size
@300mm and 10mm thick. Closing Caps shall be made up of high
quality Fiber reinforced Plastic material. Pins to be used of Diameter
35 mm shall be made up from SAE 8620 bright material. The
bearings shall be used are of “6205zz” permanent lubricated sealed
bearing of reputed. Brand. High tensile steel with galvanized nuts
and bolts shall be used for assembly. The powder coating shall be
done with Pure Polyester powders from Ackzonoble or Berger
Paints with 60 to 70 micron thickness, all complete as per drawing,
design, directions and approval of Engineer-in-charge regarding
material, shape of equipment, colour (of metal, seat and pedal), and
fixing of equipment etc

02.00

Each

79960.00

159920.00

7. | NonBSR
But
already
approved
in JDA
Jaipur.

SEATING & STANDING TWISTER Providing and fixing of Seating
& Standing Twister of size 17700mm (Length) x 540mm (Width) x
1250mm. (Height) fabricated with a Center Pipe of 100mm NB shall
be made from “C” Class G.I. Round Pipe. The M.S. round plate of
@250 mm & 10mm thickness shall be welded at bottom. Handle and
Bottom sleeve pipe of 125mm OD with thickness 5mm should be
provided for easy assembly, replacement and maintenance. The
bottom frame of the Seating & Standing twister of 32 NB, 50 NB,
and 25 NBshall be made from “C” class G.I. pipe. The handle frame
of Seating & Standing twister of 25 NB & Foot resting frame of
seating side shall be made from “C” class G.l. pipe of 25mm NB.
The foundation should be used for fixing is a structure and shall be
made from center pipe of G.I. of 80 NB “C” class, Welded with M.S.
round plate of @250 mm & 10mm thick. Main pipe shall be supported
with 25 mm X 25mm M.S. angles of 3 mm thickness and 20mm x
40mm CRCA square pipes of 3mm thickness. The Twister plate to
be fitted on the bottom frame shall be made up of M.S. Round Plate
of size 300mm diameter and 10mm thickness. Closing Caps shall
be made up of high quality Fiber reinforced Plastic material. The
Pins to be used which shall be made up of @ 35 mm SAE 8620
bright material. The bearings shall be made of of “6205zz”
permanent lubricated sealed bearing of reputed brand (SKF/FAG).
High tensile steel with galvanized nuts & bolts shall be used for
assembly. The powder coating shall be done by Pure Polyester
powder of Berger Paint with 60 to 70 micron thickness, all complete
as per drawing, design, directions and approval of Engineer-in-
charge regarding material, shape of equipment, colour (of metal,
seat and pedal), and fixing of equipment etc

02.00

Each

80484.00

160968.00

Total

1043278.00

I/We Tendering above WOrk @ .........ccceeevveeecscuneeccscnneeeee. above/below "G" Schedule.

Signature of Tendering CONtracCtor .........cccceiccrnieicsssssnneccsssssnssarsssssssssssssssssssssssss




Part "B'" "H'" Schdule

S. Item Qty. Unit Rate Amount
No. Quoted by
Contractor
1. | Wave Slide 02.00 Each

Rec. Age :- 3-8 yrs

The area :- 2.2x6.0 mtr.

Safe play area :- 3.7 m x 2.1m
Height :- 3.65m

In the mini wave slide the center support is made up of
80 NB pipe. The slide portion is made in Fiberglass
reinforced plastic. The thickness of the mini slide is
Smm with proper reinforcement to support the module.
The triangular steps of the slide are of 16 SWG and
ladder frame is made in 25 NB GI pipes. The ladder is
designed in such a way there won't be entrapment of
child's foot while playing. All the sharp edges and
corners properly grinded to give smooth finish so that
children are not hurt while playing the pure polyester
powder coating done on the pipes extends the life of
equipments.

2. ARCH SWING DOUBIE SEATER 02.00 Each
Rec. AGE :- 4-14 Yrs.

The Area: -3mx 1.5m

Safe play are :-4 mx 3.5 m

The arch shaped side frame of the swing is made p of
80 NB GI pipe and top pipe is made up of 50 NB GI
Pipe, The frame is powder coated to give an esthetic
look. The two swings are made up of 10 mm thick anti
skid chequered reinforced rubber top. the Belt seat is
suspended on 6 mm rubber oated GI chain. The ball
bearings are mounted inside a specially designed
nylon.

Total

Executive Engineer
Municipal Corporation
Bikaner

Signature of Tendering CONtractor .........ceiccnvneicscsnercsssssncsssssssessssssesssssssssssssses



